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SECTION A ~— (20 x 1'= 20 marks)

Answer ALL questions.

The Second World War was fought between

(a) 1939-1945 (b) 1914-1918 (c) 1940-1946

Winston Churchill was the wartime H,uiBm
Minister of during the Second
World War.

(@) Germany (b) England (c) Indid -

The effect of the war on working-class standards of .

living was more

@ astonishing (b) discouraging (c) encouraging

The goal of the labour movements is to protect the

(a) labour (b) capitalist (c) bourgeois

T BALEY) -

National Health Service ~Acts are Atlees

achievements.

(a) labour government (b) socialist (c) nwv#mmmﬁ

T.S. Eliot compares the poetic creation to the

process of

(@) child birth (b) chemical reaction (¢) earth

formation

The greatness of poem, according to T.S. Eliot

depends upon the intensity ©of poetic

(a) composition (b) creation (c) combination

A good novel, according to Henry James is not

forgotten by
(a) critics (b) readers (c) historians

An artist responsibility is to see that his work is

(a) likable (b) lovable (c) laudable
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The Forty Hours strike took ~place in'

(2) 1914 (b) 1915 (c) 1919

There was in the year 1925.

(a) a general strike (b) a transport - strike

(c) a railway strike

In Europe, the labour movements began during
the |

(a) French Revolution (b) Industrial Revolution

(¢) Agrarian Revolution ,

In the welfare state the welfare of every individual

from is cared by the Government.

(a) the cradle to the grave (b) head to foot (c) top to
bottom . . .

The welfare state wmooggmbmm‘m

. medical service to all.

(a) vm.& (b) reduced (c) free
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G.M. Hopkins depicts the scene of tragedy and
anguish in his poem

(@) The Wreck of the Deutchland (b) Carrion
Comfort (¢) Pied Beauty

The Unknown Citizen has
as others have on war and peace.

opinions

(a) different (b) indifferent (c) similar

‘The Thought-fox’ refers to the

(a) mﬁ.ﬂmwﬂm (b) source (c) energy

Professor belizves that he can
transform Eliza Doolittle into a duchess.

(a) Higgins (b) Pickening (c) bﬁ.wmm

After the exit of Snowball, Napoleon became

(a) a leader of the farm (b) a Prime ‘Minister
(c) a worker

Wounder Boxer was sent to

(@ a manor ‘farm (b) a butcher’s house
(c) a hospital
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SECTION B — (5.x 5 = 25 marks) .-
Answer any FIVE questions in 200 words each.

21. Write about T.S. Eliot’s theory of tradition and the
‘Individual Talent. ,

.22.  Why does Henry Jame attack Besant's notion that
- a novelist. derive his material - from ﬁoﬁmoum:
mxvmﬁobooq ,

-

23. -How m.oom Yeats feel wwoc.n the coovwm who died in
the Easter Uprising?

24. Evaluate ‘The ewocmg Fox’ as an animal péem
with a &.m.mumboo E =% m

25. What is the role played Alfred Doolittle?

Nm.OoBBmaobgm oob.._.ron vmnimob meowmob mbm
Snowball. :

- 27. How do the Pigs mimic human beings?
SECTION C — (3 x 10 = 30 marks)

Answer any ,E.HEWH pzomﬂobm in 300 éoam owor

28. moé momw T.S. Eliot’s essay mcvcoin E%mu.mobmr@.

over personality?

29. Trace 26 oﬁmcﬁob om thought in the poem
cwbnrmB mou the Doomed Mwocﬁ.m
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30.

31.

32.

o Bring out the sufferings and . faith GM. Hopkins

portrays 5 his poem. -

How momm Pygmalion show ﬁpo development om

_Eliza Doolittle into a beautiful woman?

Ccnsider Animal Farm as a- fairy. story/animal
fable.
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